Name ________________________________________
Formative Assessment on Stoichiometry (Form A)
Consider the following reaction:
[bookmark: _GoBack]AgNO3 (aq) + NaCl (aq)  AgCl (s) + NaNO3 (aq)
25.0 mL of 1.50 M silver nitrate is reacted with 35.0 mL of 1.75 M sodium chloride.
1. How many grams of the insoluble product can be formed?






2. What is the limiting reactant?


3. What is the excess reactant?

4. How much of the excess reactant is left over?  















Name ________________________________________
Formative Assessment on Stoichiometry (Form B)
Consider the following reaction:
AgNO3 (aq) + NaCl (aq)  AgCl (s) + NaNO3 (aq)
25.0 mL of 1.50 M sodium chloride is reacted with 35.0 mL of 1.75 M silver nitrate.
1. How many grams of the insoluble product can be formed?






2. What is the limiting reactant?


3. What is the excess reactant?

4. How much of the excess reactant is left over?  



